WORKSHEET
MODULE-2 (HOW, WHEN AND WHERE)

Choose the correct answer and write it in the bracket. (Sm)
. James Mill was a ( )
a) Political economist b) Scottish economist
c) Political leader d) Scottish philosopher
. Who wrote the book, A History of British India? ( )
a) Queen Victoria b) Prince James c¢) William James d) James Mill

. Who among the following had divided the Indian history into Hindu, Muslim and British

( )
a) William Jones b) James Mill c) Warren Hastings  d) William Bentick
. Who have usually divided the Indian history into Ancient, Medieval and Modern?
( )
a) Historians b) Philosophers c¢) Economists d) Political philosophers

. The following term was used to describe a society where these features of modern society did

not exist. ( )
a) Ancient b) Medieval c) Modern d) Modernisation
. Why do we try and divide history into different periods? 3m

. What is colonization? Why do you think your history text book has the title “our pasts”? 2+1

. How did the historians divide the Indian history? What problems does this division have? 3m
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